9 // 008 // 60-HOJOSW (1)

91=¢x8 ‘Siiew
Z Sauued uonsanb yoe3 'spiom Q¢ ojdn wnuwixew
10 95USJUSS SUO ‘PIOM BUO Ul Jamsue InoA JwidSp noA

uonsanb ay} jo ainjeu ay} Jad sy 'suoijsanb [ Jemsuy :9j0N
(Asosindwion) (suonsanp adA) ssmsuy Hoys Aisp)
VY-uoiass

Inellp 2B6 b Jbek dbEikbll ¢ saB
®RK 12 Dlollisk] b 1808 bIP B, kD b, ‘46, kh-byi 2k 2k

"suononiisul uaaib Jad se siemsuy SJUMA "D pue g
‘v SUONoas 9aJy} Ojul pepiAlp si Jaded uonsanp ay] :3joN

08 : syavpy xvp] [sanofy 224y : awil]
(60-HD 2S'IN)
jesnjuaseulieyd pue sbniqg

GT0Z ‘aun( uoneulwexy
(feuld) Ansiwayd S

60-HOOSIN

60€



gug-3
(otfy @y I o) (sifvard)

e Ef O & Sux AT ST STUN SEX B AR T
I, TH I I Aeaw 30 g=f § gt it
T% U 2 3 T B

1. ()

(i)

Emm” do you understand by random and non-
random screening of lead compounds for drug
discovery?

vy sreEae 3 R ReT oRvd @ SReE-gH
B A 1 Ay ®7

Write the structure and two applications of
morphine and Lisinopril.

ffEa

(i) What is QSAR study? Explain with the structures

of Diazepam, Im_mnmvm_.:_ Oxazepam and

Lorazepam.

QSAR IegT T ¥? SrAUSium, Beoshum,
SATFHTSIIH T A B FET ER T
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Section-B

(Short Answer Questions)

Note: Answer any 4 questions. Each answer should not

exceed 200 words. Each question carries 8 marks.

4x8=32
gus-g
(wg ST u%)

fpl T} gsHl & IR AT oMY ST ITX Wl AfhaH
200 g # gt ST 9@ 959 8 ofF & &

What do you mean by Agonists and Antagonists?

W a9l TR 3497 87 399 MEeT &9 B0
IaTeTT gizq gHAEdl

What is combinaioriai synthesis? Discuss the
synthesis of 1, 4-benzodiazepines.

TR WA T 7 1, 4-Ieolreraeeidieg & HRTT
EEERIEIER]

Discuss the physicochemical parameters used in
QSAR studies.

QSAR 15989 § HM o ard Aifaes-THaEG Fagal H
o il
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Describe the mechanism of action of sulphonilamide.

FepaEs # e At Brafafy wweEd)

Describe the synthesis of dopamine and propanolol.
S g S B Feer # Ao S

What are calcium channel blockers? Write structures
of amlodipine and nicardipine. Give synthesis of

nifedipine.

ey AT VuF F1 57 TRASUE a FefeyE @
T Rifed FoRde @ deger S

What are DNA-Topoisomerase inhibitors? Write the

synthesis of ciproflaxacin and norflaxacin.

SoToTo-STTEHAS HEATH F1 &7 [T
Ud RO & g iR

What are bioavailability studies?

TSRS STeqa FT 27
Section-C

(Long Answer Type Questions)

Note: Answer any two questions. You have to delimit your

answer maximum upto 500 words. Each question
carries 16 marks. 2x16=32

(5) PT.0.



